Topic 11: Exercises on Integration

Level 3, Part 3
n 1 n-2 n-2
LIf 7, = Isec xdx for n >0, show that 7, =———1tanxsec X+ 11,,_2 forn=2.
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Hence show that if ], = Isec” xdx for n>0, then I, = (+2) . + 2 ?]n—Z for nz2
n— n-—
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and deduce that 74 = %
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2.1t 1, = Ix(l—x3)”dxf01' n=0, showthat I, = 5—3—@——]”_1 for n>1. Hence find an

0 +3n

expression for 7, interms of »n for n>0.
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3. Show that J' f(x)dx = J f(a— x)dx . Hence show that

0 0
/2 1n
J. ————CM-—d j %dx and hence evaluate the given integral.
0 cos® x +sin’ x o Sin” x +cos” x
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4. Show that 'f f(x)dx = _[ f(a - x)dx . Hence show that .[ _OOF x =T

0 0 0 cosx +sinx 4




